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If after selling 30 pens, the seller observes
the profit of sell price of 10 pens, then the

profit percentage is:

( UPPCS Pre 14/05/2023 )

a) 200%
b) 33.33%

c) 66.67%

d) 50%

JoSp = 30 SP —30CP

3Bcp = dPsP
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F “* If the cost price of 10 tubes is equal to the
selling price of 5 tubes. Find the

percentage of profit in this transaction ?

gfe 10 At &1 @ e 5 Afa®ei & |
oy gou & RN 81 59 &9 &7 H @Y &
wia=rd J1d & 2

(UPSI 12 Dec 2017)
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; + If the cost price of 40 apples is equal to the
selling price of 50 apples, then find the

percentage of profit or loss ?

gfe 40 J<f &1 U Yo 50 Va1 & fAapy gou g
& ISR B df ATH YT g1 BT uia=ra {19 ey
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F~:-1Maﬁﬁﬁsﬁﬁaﬁwa‘hﬁeasﬁﬁ?a q
;ﬁmqmaﬁaﬁﬁlmmm 4y CP—Jiy SP = €SP
On selling 144 bicycles, John lost the selling L& }I@{P
price of 6 bicycles. His percentage loss is -
= WG NS

UPPCS Pre 26/06/2013 —&_{; A % a:
a) 4% \/
b) 8% é%_l S (RS .
C) 6% QS, / \V
d) 10%
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Fo:o o fAafar et axii= &t 20% @Y & 91y
U1 fAhar &) a9ar 21 4 fahar 10% a1y
& 9y G a1 & ¥ ST 81 G CPX
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Ued ddadi gl Fafar St ara g -

A manufacturer sells a machine to the

wholeseller at a profit of 20%. The

wholeseller sells it to the retailer at a profit
of 10%. The retailer sells machine to a
customer for ¥ 455.40 after making a profit
of 15%. The cost of the manufacturer is

UPPCS Pre 10/06/2012

a)
b
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fapy qeu & R 8, dl Fafafea d d =
FH AT A AT @ ?
If the cost price of 10 shirts is equal to the
: : : . loCP= JSP
selling price of 08 shirts, then which of the /\
following is true for the transaction ? — CP ﬂ L!
UPPCS Pre 15/12/2019 SR s

a) 25% BT ATH / Profit of 25%

b) 25% ®1 BT / Loss of 25% Qi = H'jx 66
¢) 20% BT ATH / Profit of 20%

d) 20% P18 / Loss of 20%
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F 2+ BIE AT T 20 F 25 V9 P X A A9 @iear e 1
dquIIe 25 W20 AT duar gl WA AIv ® -

A person bought apples at the rate of 25

apples in ¥ 20 and sold them at the rate of 20 '1;( 5 -1y R X 4
apples in ¥ 25. Profit in percentage is - Sy /1 —>
~ BRx5)@5)¢

UPPCS Pre 24/09/2017

a) 36.25% o A

b) 46.25% E ?x o

c) 50% t{ /\

d) 56.25% = 869 /

b b 4
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F + BIE fdT ¢ 20 F 25 A9 Pt X | V9 @iear e
dquIIe 25 W20 AT duar gl WA AIv ® -

A person bought apples at the rate of 25

apples in ¥ 20 and sold them at the rate of 20 Lp( S

apples in ¥ 25. Profit in percentage is - Sy lf
UPPCS Pre 24/09/2017

a) 36.25%
b) 46.25%
c) 50%

k BY - AMIT SIR

d) 56.25% =
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F % U9 T 50 § 5 B ¥ W Wil 7T 9YT Id4 81 9
250 H 10 I ¥ W Wle MU | 3¢ HaTH 50 H
6 I ST W T T Ufad ATH & 2

Apples are brought at 5 for Rs. 50 and an
equal number at 10 for Rs. 50. They are mixed
and sold at 6 for Rs. 50. The gain percent is -
UPPCS Pre 29/05/2015

a) 20

2
b) 165

1
c) 335

d) None of the above / amjaa Hq BIg el
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